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1. In rhombuslJKL, diagonals IK and JL intersect atM. Then ZI)K=
L K

| J
(i) ZUM (i) ZKLI (i) £L (iv) ZJKL

2. The opposite sides of the quadrilateral are
H

F G

(i) FG&HJ,GH&JF (ii) FH&IG,HI&GF (iii) FG&I),GI&JF (iv) FH&GI,HG&IF (v) FG&HI,GH&IF

3. Name all quadrilaterals whose adjacent angles are supplementary

(i) rectangle,rhombus (ii) square,rectangle (iii) square,parallelogram (iv) square, kite

(v) parallelogram,square,rhombus,rectangle

4. Name all quadrilaterals whose diagonals bisect each other

(i) square,kite (ii) rectangle,rhombus (iii) parallelogram,square,rhombus,rectangle (iv) square,rectangle

(v) square,parallelogram

5. In kiteKLMN, KM and LN are diagonals. Then ZLKO =
M

K

(i) £KON (ii) £OML (iii) £LOMN (iv) £ZNOM (v) Z4NKO



6. The sides of the parallelogram are
5 R

P Q

(i) PQ,QR,RS,SP (ii) PR,RQ,QS,SP (iii) PQ,QR,RT, TP (iv) PQ,QS,ST,TP (v) PR,RS,SQ,QP

7. In rhombusDEFG, diagonals DF and EG intersect atH. ThenEH =

G F

D E

(i) FH (ii) GH (iii) DH (iv) GD

8. How many diagonals does a quadrilateral have?

(i) 0 (i) 4 (i) 1 (iv) 2 (v) 3

9. The vertices of the rhombus are

I H

F G

() F,G,H,I (i) F,G,H,]) (i) F,G,H,K (iv) F,G,I,K (v) F,G,I,]

GHIJ is a rhombus in which £G = 106° .
10. HJ

is the diagonal. Then AGHI is

(i) ascalene triangle (ii) an obtuse angled triangle (iii) None of these (iv) an equilateral triangle
(v) anisosceles triangle

11. The diagonals do not divide the quadrilateral into congruent triangles in which figure?

(i) rectangle (ii) rhombus (iii) square (iv) trapezium (v) parallelogram

12. Which of the following properties apply for a trapezium ?

(i) Adjacent angles are supplementary (ii) Both adjacent angles are obtuse
(iii) One pair of opposite sides are parallel (iv) Diagonals are equal

(v) Diagonals are perpendicular to each other



13. In kiteOPQR, OQ and PR are diagonals. Then ASRO =
Q

0]

(i) ASPO (ii) ARPQ (iii) ASQP (iv) ASQR (v) ARPO

14. In rhombus MNOP, diagonals MO and NP intersect atQ. Then LOPQ #
P 8]

M N
(i) £LMNQ (ii) £QPM (iii) £PQO (iv) £4QNO
15 Three angles of quadrilateral measure 81.29°, 112.41° and 65.32° respectively. Find the measure of the fourth

angle

(i) 101.98° (ii) 99.98° (iii) 100.98° (iv) 102.98° (v) 98.98°

16. Name all quadrilaterals whose opposite sides are parallel
(i) parallelogram,square,rhombus,rectangle (ii) rectangle,rhombus (iii) square,kite

(iv) square,parallelogram (v) square,rectangle

17. In trapeziumMNOP, MO and NP are diagonals. Then MN ||
P O

M N

(i) NP (ii) PM (iii) NO (iv) OP (v) MO



18. In the given figure, DEFG is a rhombus such that ZE = 120°. Then ADEG is
€] F

1z0°

D E

(i) Obtuse angled triangle (ii) Right angled triangle (iii) Equilateral triangle (iv) Isosceles triangle

19. In parallelogramBCDE, diagonals CE and BD intersect atF. Then £LBCD =
E D

B C

(i) £BCF (ii) £4DEF (iii) 4EBC (iv) £CDE (v) 4DEB

20. In rhombuslIJKL, diagonals IK and JL intersect atM. Then ZMKL =
L K

N
N

| ]
(i) £IML (ii) £ZLIM (iii) £ZJKM (iv) £4Ml]

21. In rhombusHIJK, diagonals HJ and IK intersect atL. Then ZLIj =
K J

H

(i) £LLKH (ii) £HIL (iii) £KLU (iv) ZJKL



22. In the given figure, HIJK is a parallelogram such that S is the mid-point of Hl and HI = 2KH. Find £KS]
K

76° 104°

H 5 I

(i) 88° (ii) 91° (iii) 90° (iv) 92° (v) 89°

23. In rhombusOPQR, diagonals OQ and PR intersect atS. Then £LSOP =
R Q

O P

(i) £PQS (ii) 4£SQR (iii) £ROS (iv) £OSR

24. In rhombusABCD, diagonals AC and BD intersect atE. ThenDE =
D C

A B

(i) DA (ii) CE (iii)) AE (iv) BE

25. In rhombusGHIJ, diagonals Gl and HJ intersect atK. Then £)GK =
J |

X

G H

(i) £HIK (i) £KIl) (iii) £GKJ (iv) £KGH
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